[ Efficiency vs vertpos |

= 0.5
$0.45F
o F

i

N
e
B

+1-’ ., F‘ i
13z

1072

B = B S S

10 0?
TP vertr (cr%)

— DQV I_original s[epz bar- -phasel-newgeom
QM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— D
ici —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
Efficiend —+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

~n 0.5
20.45
[
2 04
C0 35
G
£ 03
3]
0.25
0.2
0.15
0.1
0.05]
o O
T 14
o
12
il

5 1 L Ilthn.l Pl .,} :
-30 —20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5
z TR SUUUE SRR
Q045 -r-errieeeeed R AR R R
£ : RSO I
7B T S S S
2038 +++:toreeede e b b
P : : : : : :
o R e e e # SIREEEE
3] CTh L gL e
£0.25F TS N S
0.2F -l ARSI
R R N S s T
0.1 ; ' ; ; i ; :
0.05
g O
g
o
+.+++'*++++
-wm“i#ﬁl* """""

-5 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


